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And the 771791 came on time - AR 19K 537 I ToAYID K 1anara N2
and the MY said I paid you during the time, he is not believed

OVERVIEW

There is a query later’? in our X3 whether a 2n is effective when it opposes a
7P, The case in question is if the m%n approached the mY% after the due date. The
MY responded that he paid before the due date. On one hand there is the 1pm that
13AT 710 ¥ 27X PR which would lead us not to believe the m». On the other hand
the Mm% should be believed for he has a 2n that he could have claimed that I paid
you after the due date (some time before the m>» approached him). ndOIN
anticipates the suggestion that in the case of 2" itself there is a P 23pn2 wn. The
m? could have claimed that you never lent me any money, etc. The fact the 5"
does not give credence to the m> would seem to prove that "1 maintains that X?
aRTA 21PRA 11 1R, Our mdoIn will refute this proposition.

— 19T 15 YD) 39 299NY BYTY WY 5Y ANIY)
And it seems to me that the 17 of " is valid (only) if there are witnesses who
can testify two things; a) that the M owed him money and b) that the % set a

time when the loan is due. It is only under these circumstances that the m? is not believed if he
claims *1n7 70 NYID.
— 0I5 Y NMIN RY 9N S¥3 INT 12 1T TIN WDV N3N 251 IND INT

For if it were not so, if there are no witnesses that can testify that the m% owed
money and that a due date was established, then we (could)* believe the 717 that he
paid 17 70, since he has a 1°» that he could have said, ‘you never lent me

anything’, if there are no witnesses that the m? owed the Mm% money. Had the m? claimed that

I never borrowed from you, the m>» would not be able to collect.
— 1T OV Y NYaP NYIN

Or even if there are witnesses that the Mm% owed the m», however if there are no
witnesses that a due date was set, the Mm% should also be believed to say T 7nya»

! The words 312 827 do not appear in our X3 texts. See 2"w7mn cited in 0"wa nMon. See footnote # 14.
2 902 3,7 7. This ®°y2X is (only) according to the viewpoint of 2"9; for according to X271 »ax the MY is believed
regardless whether there is a 13» or not.
3 The language of Moon is precise. The o°7y are not (necessarily) testifying that they saw the loan; but rather they
are aware that he M2 owed the 779 money. See later in n1vo1N (by) footnote # 11.
4 It would seem that whether we actually do believe him or not is dependent on the outcome of the X’v2’X later in the
X3, whether we say npii 01pna 2 or not. The following sentences have been translated to reflect the ruling if we
were to assume that we do accept a api Q112 W,
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“In7T with a 131 that he could have said you have not set a date when the monies are
due. It is a X127 ono. In the previous NvOIN, the " maintained that by a aX1%7 ano the MY is
believed to say 11 710 °nynn.’

mooIn concludes his proof that 5" is discussing a case where there is no wn; for if 2"3 is
discussing all types of cases even when there are no 27y that he owed him money and/or was
11 ¥R, then how can "1 maintain that the m? is not believed -

— 5PN DIPNI 11 12NN IN 9D ¥ 1P
For later the X3 queries whether a 13°n is effective in the face of a 7pin. If the 17
of wp% w™ that 1"noXX is valid in all cases even when there is a 3, then what is the query?’

moon anticipates the following question. We have been forced to establish that there are o7y
that the M> owed money to the m>n (otherwise the M? has a wn of 0"71%). Why then does 5"
maintain that the M7 is not believed to say *1 70 7°ny5 (only) because of the 7P of 1"NORK;
even without the npm1 the M7 should not be believed, since there are 0°7v that maintain that he
owed money to the mon! Seemingly the only answer to this question is that "1 maintains that
one who borrows money in the presence of 2>7¥ need not repay the m>» in the presence of o°73.
The m? is believed to say *ny1o without 2°7v even if there are 2>7y who testify that he borrowed
the money. This issue whether 2>7¥2 197197 759X 2°7¥2 17207 DX NP1 or 2°7¥2 WND? P WK is a
np1onn. We can seemingly derive from our discussion that 5" is of the opinion that nx mn3
0>7v2 1WwIeY ¥"X 2°7va 17°an.® moon will refute this assumption.

— YPY Y 9207 YN NINY PN DIPN YN
However notwithstanding the above, we cannot prove from here that 5"

maintains that -
— D1y y9Y P98 1PN ©T¥a 192N NN nirin)

When one lends someone money in the presence of witnesses, the Mm% is not
obligated to repay him in the presence of witnesses; but rather the m» is always

> In either of these two cases had the 71> utilized the 3 he would be believed. He should therefore also be believed
if he claims *3271 730 Pny1. Therefore since "1 maintains that the M2 is not believed if he claims >11 70 7°nv19, we
are forced to say that 5" is discussing a case where there are 0°7¥ that he owed him money and was v21p a 721, In
this instance there is no %n. There is only the 3Pt of 1"noXY; the M? is not believed.
¢ This ®°¥2X is (only) according to ". See footnote # 2.
7 Obviously we do not say 7pm 0pna 13°n. We can, therefore, derive from the XX, that the 17 of 9" is (perhaps
only) when there is no 2», i.e. that there are 0>7v that he owed money and there was a u7 n¥*2p. When there are no
27y and there is a 131, then it will depend on the outcome of the &°¥2°& whether a 131 is accepted 711 2pn2, or not.
See ‘Thinking it over # 2.
8 mooin is arguing Twa1 man. If there are no 0°7y, then we can derive that "3 maintains that 7P 21PR2 W7 117K XD.
If there are 0>7v then we can derive that "1 maintains 0°7y2 17197 ¥"R 0°7¥2 17"20 DR M7
% In the case of 2" there are 0*7v that the m? owed the M>» money, nevertheless we cannot prove from here, wherein
5"1 maintains that the (only) reason the M2 is not believed is because it is W71 710; and not because there are o>7v
who testify that he owed money, that 2>7v2 w95 ¥"X 2°7¥2 17720 DR M.
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believed to say *ny7s without witnesses. This would explain why "1 maintains that the (only)
reason the MY is not believed is because it is 11 7In: and not because there are 0>7y who testify
that he owed money. For if ") would maintain that 0>7v2 Ww719% 7°9% 2°7¥2 1120 NR M9n0, why
does 9" say that the m? is not believed on account that it is 127 710, since M0 has already
ascertained that in this case there are 0°7¥ that the Mm% owed money, the 712 would not be believed
regardless if it is W 11T or not, since D°7Y2 WTO? T°IX DTV 12T DX M1

mooin refutes this attempted proof by explaining there are two different types of n17¥ concerning
the Mm% owing money to the 7.
— 01¥ 239210 ANHN NON 1007¥a XHY 1MINY NN 292107 YVaNT

For it is possible that here in the case of 2" we are discussing a situation that he
lent him the money not in the presence of witnesses, however the mP

subsequently admitted in the presence of witnesses that he owes the m%» money.'
Now it is understood why "3 may maintain that 2>7v2 Ww9% I8 2°7w2 M0 AR M0 and
nevertheless maintain that in this case the reason he is not believed is only because it was 117 70

and not because there are 0>7y. N190IN explains:
— D7¥2 I¥919Y 7298 9INT INIY 192aNT

For even according to the one who maintains that one who borrows in the

presence of witnesses must repay in the presence of witnesses; otherwise he will
not be believed to say *ny"» -
— 13Do1y 9392 NIN 1931990 NYT I2N925¥10 ©1Y 2392 YMYNT NI 05 2N

These words are valid only where originally he lent him the money in the
presence of 2°7¥; in this instance the Mm% cannot claim °ny75, but must rather have
0°7v who can corroborate his payment. The reason for this is because the 7% did
not trust the > himself with the loan, only in the presence of 2>7p.

10 This is does not contradict that which moo1n explained previously that there are witnesses that the m?
owed the Mm% money. as MdoIN goes on to explain,
11 See footnote # 3.
12 One may have mistakenly thought that the reason why 2°7¥2 W19 778 0°7v2 1720 DR M717 is because since we
know that the Mm% certainly owed the 79 money, therefore he is not free from this obligation unless the 7% can
prove that he paid him. If that were the reason, then there would be no difference whether it was 2°7¥2 1121 nx 717
or the MY was 0°7v *192 7717, in both case the m> would not be believed to claim >ny1o without 2>7v. NDOIN teaches us
that this reason is not correct. The reason is as stated 121 773271 R27. See also ®2°2°X 17"7 MDOIN on this (2) TMY.
13 By giving the loan only in the presence of @7V it is as if the Mvn is informing the 7% that he does not trust him and
in effect is saying to the M you must have witnesses testify that you paid. However in our case where the loan took
place without witnesses; the 7% did trust the m?7, therefore even if subsequently the 77 (for whatever reason)
admitted to witnesses that he owes the m>» money, this admission does not preclude the m> from subsequently
saying *ny1o without 0>7v. We have now reconciled these two factors. On one hand the m> has no » of 0"777% since
there are 0°7¥ to whom he was 117 that he owed the money. On the other hand even if "1 would maintain nx m>»7
a"oh¥ 0*7va 1Man, the M would have still been believed to claim >ny1s since there were no 0’7y at the time of the
loan. That is why 2"1 maintains that the only reason the 717 is not believed is because it is 137 70,
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mooIn asks an additional question:

— Hany Tnyas 9N Sya ANT 19 13599 K97 NI DIV’ DIPN Y39 YINN ON)
And if you will say that notwithstanding that which was previously said that
there are 0*7v that he owed him money and that there was a a1 ny°2p for payment,
which would preclude the Mm% from having the w»n of "% or a1 NYap X9,
nevertheless we can still prove from this statement of 5" that we do not say that
a 1% can stand up in the face of an opposing 1. The MY still has a different wn,
for the % could have claimed that I paid you now; today before we came to 7"™2."

MDOIN answers:

— 1% SY PINN 02 399D 39957 1199 1191 YN XY NAT PNYY 19539 IIN)
And the °"1 says that this claim of 7ny 7°ny72 is not considered a valid 13» since
we are discussing a situation that is taking place on the last day of the time; the
day that the loan is due.

mooin elaborates and explains:
— (W) 3,3p 97 K Na2) INIYNT NIV 199D 0NT 2) DY GN)
For even though the X713 concludes in the end of Y87 P7d -
— 11931257 DHYINT NN Y997 YIPN ToayY
That it is plausible that a person will pay on the day that the time has come;
the due date. Therefore it is true that had the m? actually claimed that he paid today on the due
date he would have been believed -
— 169957 PNYID Y YIPN I8N NYT 1NN AT PN 01PN Y
Nevertheless this is not a w2 for a person does not have the audacity to say

that I paid you today; when it is not true. A 1n is that we believe what he claims now,
because he could have offered a different claim which would have been accepted. Here however
he would not have the gall to claim that I just paid you. That is too blatant a lie to say to the mon.

14 See the heading of n190In where the X073 is "aara X21'. See footnote # 1.
15 Today is the due date. If the Mm% would claim that he paid today on the due date, he would have been believed.
Therefore even if the M7 claims that I paid you previously *171 710, he still has a 1% of 7ny 7°ny-9. The fact the 5"
maintains that the Mm% is not believed, even though he has this 2, proves that 9"1 maintains 3K R? 3P D1PR2 W0,
The & n3 should have cited this as proof to resolve the X°y2°X.
16 In every 1n there is the My he is claiming and there is the 13°n which he could have claimed, which is obviously
not true (he did not even claim it). The idea of a 2» is that we believe what he is claiming in his 713, for he could
have just as easily claimed the »n. However if he could not have just as easily claimed the 13°», as in our case, then
there is no MnX1 of a 1n. We assume that he is indeed lying but he claimed the lie which was the most comfortable
lie. The lie of o1 7°ny5 is so uncomfortable, compared to the lie of *11 70 "nYId, that he prefers *11 710 7°nYI5 to
avri nyan. If however he actually claims 0177 7°nv19 then he is believed, since there is no reason not to believe him.
The fact that it is an uncomfortable lie, makes it all the more believable, for if it is not true, how is he claiming such
an uncomfortable lie. It must obviously be true.
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oI anticipates a question: If the 1 of 211 PNy is not a valid »n since WK 7% &2, why
is the wn of Wit RS °nYo any different. He is seemingly also claiming a blatant lie in the face
of the m%n. MdOIN responds:

18: INDWHY 71NN TPNYID MY NID D29 DaN

However it is quite usual to claim that I paid you yesterday d.c. some time ago)
but you must have forgotten about the payment;

SUMMARY

We cannot infer from the 17 of 2", whether he maintains 7P 21712 37 or not;
and similarly whether he maintains £°7v2 W97 T°9% 2°7¥2 17°20 DX MY or not.
The case of 2"7 may be in a situation where there are 0>7v that the Mm% owed the
MY money and that the Mm% was 71 ¥23p. This precludes both the n of 0"77% as
well as 721 °2 nvap &%. On the other hand since the 07y merely testify that the m%
admitted that he owed money (but not that they were present at the loan), everyone
agrees that in this situation 2>7¥2 w7195 ¥"X. There is also no wn of avi nyIy, for
that 1s a 7Tv77 WA,

THINKING IT OVER
1. What is of greater concern to mo0n: whether we can derive that "1 maintains
INR R 7RI 2PN 1300 or if 9" maintains 2°7V2 WTDY XX 227V 17020 DR M9nn?

2. Can we differentiate between the manR1 of 1"AX% 7°NYI97T 112 °127 N NYID and
the N1AARI of *°)M1%77 X27 1312 %31 TN 7°PnvAo (or 121 %% nvap xow)?Y

3. According to the Ripon of moon if the MY said that I paid you today on the due
date, is he believed, or is it too much 71371 on part of the M7 to be believed?

4. Can we conclusively infer from this o010 that 73778 X 71977 12?20

17 moo1n may be referring to the X°y2’X of the X3 concerning 7Pt D1p»2 1 where the MY» approached the mb
(even one day) after the loan was due. The X3 does consider the argument of 210X 7°ny7o as a valid wn (providing
we say 1Pt Q1PN 1n).
18 Even though it is also a lie; however it not so brazen a lie for the 7% will say to the m>n ‘you forgot’. This is not
something the 772 can say when he claims that I paid you today. We therefore suspect that the 777 is lying. It is easier
for him to say the lie that I paid you »1 790 and nnow, than to claim I just now paid you today, where the m>» knows
that it is a blatant lie. There is no 1» for it is assumed that the 7% does not possess the wherewithal to make such an
outrageous claim.
19 See footnote # 7. See 2p NIX *"92.
20 See »p 0 "2

5

TosfosInEnglish.com



